POSW.

www.posu-pneumatic.com

. Ho E 15 4H Main Block
SRR
Joint

Dene......

ni o5t e B A&
PKR-0804 | 4 MI2X10 | 6 |23.4 11.9 | 125 14 | 14 | 182 | 34
MEX0.75 8 4
- PKR-0806 | 6 M14X10 | 6.2 | 25.7 138 | 145 17 | 17 | 283 | 59
OH2 ; M2 PKR-1006 | 6 M14X1.0 25.6 139 | 142 ]| ., |17 [ 267 ] 58
ﬁ PKR-1008 | 8 | Mioxo75| mMi6x10 | 6 |288| & [ 158 158 19 | 287 | 79
I’ : i PKR-1010 | 10 MZ20X1.0 a2 188 | 209 | 5 | 21 | 24 | 565 | 85
ol & ¢ o PKR-1408 | 8 M16X1.0 28.8 157 | 157 | 4 19 | 19 | 300 | 79
I T PKR-1410 | 10 | M14X1.0 | M20X1.0 | 6 |317| 8 188|188 | . | 21 | 24 | 518 | 97
ol PKR-1412 | 12 M22X1.0 33.7 20.8 | 20.8 24 | 27 | 678 | 117
-

PKR-1810 | 10 M20X1.0 33.7 | 8 | 207 24 | 597 | 96

w i L, ‘(i M18X1.0 5 071 5 | 24
. PKR-1812 | 12 M22X1.0 33.5 | 12 | 208 | 208 27 | 672 | 117

PKR aniohE b= (=)

Joint (lvory)

9 s o

m Wi i mmlE
D—HZ\ gD p2 PKR-0804-W 4 M12X1.0 6 |23.4 11.9 | 125 14 | 14 | 182 | 34
| ' I PKR-0806-W | & MBXOTS " iax1o | 6.2 | 257 2 13.8 | 145 K 17 | 17 | 283 | 59
\I : |r ol _PKR-1006W | 6 M14X1.0 25.6 139 | 42| 47 |17 | 267 | 59
ol O [ 7o PKR-1008-W | 8 | mioxo75| M16X10 | 6 [288 | 8 | 158 | 158 19 | 297 | 78
I = . PKR-1010-W | 10 M20X1.0 a2 188 | 208 | 5 | 21 | 24 | 565 | 85
= I PKR-1408-W | & M16X1.0 28.8 16.7 | 15.7 | 4 19 | 19 | 300 | 79
W E L < PKR-1410W | 10 | M14X1.0 | M20X1.0 | 6 |31.7 | 8 |188|188| _ | 21 | 24 | 518 | 97
. YL PKR-14122W | 12 M22X1.0 33.7 208 | 208 24 | 27 | 678 | 11.7
PKRABIOW | 10 | .o . | M20X1.0 | o |337)| 8 |207|207| _ | , | 24 | 597 | 96
PKR-1812W | 12 M22X1.0 335 | 12 | 208 | 208 27 | 872 | 11z

HiEWEER
PBA Straight

oo [

> PBA-0801 PT1/8 15 7 105 | 4.1
e R M8X0.75 13.1| 14
. \ PBA-0802 PT1/4 176 9 155 | 5.1
( PBA-1002 PT1/4 17.6 | 9.5 | 15.4 17 | 5.1
\ M10X0.75 17
PBA-1003 PT38 17.6 | 9.1 | 13 233 | a
-, PBA-1403 PT38 176 | 9.5 | 13 | 19 | 193 | 6.1
y M14X1.0
PBA-1404 PT1/2 20 | 115 14.3| 21 | 372 | 6.4
PBA-1804 PTi2| M18x1.0 | 20 | 12 | 14 | 24 | 336 | 6.4




